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4( Subtract integers )7

For each expression below, find the difference and chose the correct answer from

the list.
1. (-1,250) - (-977) =

0O -»; 0 23 0O -h 327 0O 1327
2. 60-10 =

0O . O -so O so 0O 7
3. :10-(-39)=

- 29 O 4o O -4 O -

4. 824-(-824)=

Oo O 164 O 1648 11, 648
5. (-6)+\(-24) =

O e O - O =30 O .z
6. 15-29=

0O a4 0O = 0O .4 a 4
y AR &) BN EHIE

D 2 D =2 D 0 D+2
8. 50-100=

0O -so 0O s O so O 1o
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4( Subtract intgers )7

For each expression below, find the difference and chose the correct answer /from

the list.
1. (-1,250) - (-977) =

o -7 0 23 0O -h 37 0O 1327
2, 160|-10 =

0O . O -5 o so 0O o~
3| 110-¢-39)=

- 29 O 40 0O 4o & 2

4. 824-(-824)=

0o M/LGZL O 1648 11, 648
5. (-6) +|(- 24) =

O s O - 0O =0 & -0
6. 15-29-=

@ s 0O . O .44 O i
2| (D-(¢D=

0o O - M o O .o
8. 50-100|=

¥ 0 0O s O so O 1o
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